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MISSION SELECTION SSC 2 (2]

Q.1. What are the options
available of me for a change of
career?

1. options available over me

2. No substitution required

3. options available to me .
4. options available from n @20

Ans 3. options available to me



Q.2 Select the option that expresses the
given sentence in passive voice.

Have you submitted the papers at the post
office?

1. Have the papers been submit by you at
the post office?

2. Have the papers been submitted by you at
the post office?

3. Huek theHpapére raulsimittee by |
post officdPmitted by you at the
4 Hae tIPSLOHICR? hoan ctthmitted hv voulr at




Q.3 Select the most
appropriate meaning of the

given idiom.

Butter fingers

1. To cook well

2. To be very efficient
3. To like rich food

4. To be clumsy
Ans. 4. To be clumsy




Q4 Select the most
appropriate synonym of the
given word.
Salient

1. Noticeable
2. Navigable
3. Marine

4. Sturdy

Ans. 1. Noticeable




Q.5 If the box breaking the
glass bottle will be shattered.

1. If the box broke

2. If the box breaks

3. If the box break

4. No substitution requireds—

) ~ (&S \Y

Ans. 2. If the box breaks
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Q.6 Select the INCORRECTLY
spelt word.
1. Twinkle

2. Readible
3. Whisper
4. Secluded

Ans. 2. Readable




Q.7 The energy required / for
perform various functions of the
body / is obtained from food.

1. for perform various functions of
the body

2. The energy required IMI

3. No error
Ands obtRipaddram feesm = to

perform
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Q.8 Select the most
appropriate meaning of the
given idiom.
Large-hearted
1. Corrupt

2. Overweight
3. Generous
4. Unhealthy

Ans. 3. Generous




Q9 Select the most
appropriate synonym of the

given word.
Apathetic

1. Irregular
2. Indifferent
3. Irrelevant

4. Instantaneous
Ans. 2. Indifferent
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Q.10 Select the INCORRECTLY
spelt word.
1. Attitude
2. Altitude
3. Attaractive
4. Aptitude

Ans. 3. Attractive
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Q11. The organlzers agreed to shift
the conference at some place
convenience to all participants.

A. from a place of convenience

\_, o) —_ J

B.
C. at places convenient
D

. to a place convenient
A place might be ‘convenient ’

or ‘inconvenient’. ‘Convenience’ is

not a proper word for a place.
Hence ontion (¢) ie niled ot




Q12. Public health facilities are more
scarce since patients have to wait for
hours to see a doctor.
A. quite scarce that

B. so scarce that

C. very scarce because
D. too scarce for

Answer: (b)
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Q13. | should has to be with
them tonight.

A. has been

B. have been

C. been

D. No improvement

Answer: (b) The modal verb “should?,
should be followed by the first
form of the verb followed by its
past participle.
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Q14. He claimed that he was
senior than me.

A. senior to

B. senior over

C. senior by

D. No improvement

Answer: (a) ‘senior’ is followed by ‘to’
not ‘than’. Therefore go with
option (c).




Q15. Leaders enable a group by
Imagining and create future which will
fulfill the group purpose.

A. to imagining creativity

B. to imagine and create

C. to Imagine and by create
D. by imagining to create iMl

Answer: (b)




AISSION SELECTION SSC 2 (2]

Q16. Banks must be ensured that
18 per cent of their loans is given to
the agricultural sector.
A. being ensured

B. are ensured

C. have to ensure

APsmﬁh@ylﬁ’ o?%ﬁ@ﬁureqﬁ’sured’ means

‘banks themselves are insured’. Is it
correct? — Nol. In option (c) ‘have to

ensure’ means ‘it is the duty of the
banke to encsure’ len't it? Yee it ie




Q17. If you should need my

help, please feel free to tell me.
A. In Case you felt need
B. Should you need

C. If you would need

D. If you are in need for

Answer: (d)




Q18. The crowd which has gather to
protest against the decision slowly
returned to their homes.
A. Gathering up

B. Which had gathered
C. Which have gather

D. Which gathers around

i)

Answer: (b) The use of ‘returned’ in the
given sentence shows that the
csentence IS in nast tense




Q19. It is difficult to work with him
because he is One of those persons
who think he is always right.

A. always think his

B. is always thinking they are

C. always thinks he is —
D. think they are always |M|

Answer: (d)

\




MISSION SELECTION SSC 2 ()

Q20. The yoga session is most
likelihood to start at 6.00 a.m.

A. is most likely to start at

B. is mostly like to starting at

C. is mostly liked to start at

D. be most likely started b!

J /] ~ (S \VY

Answer: (a)




Q21 He had a good sleep after
he has had a heavy lunch.
A. had had a heavy lunch
B. had a heavy lunch 00 ZA0)
C. had been taking a heais
lunch

D. No improvement

Answer: (a)
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Q22. He is adequately provided
for the necessities of life.
A. by

B. to

C. with

D. No improvement

Answer: (c)




Q23. Many accidents at the factory
are caused of workers do not read
warning signs.

A. are caused because
B. is the cause of

C. are caused by

D. are a cause of
Answer: (a) use ‘are caused because’ in

place of ‘are caused of and hence it
cannot be a correct option.




Q24. He must being
overwhelmed with the
responsibility.
A. been

B. has been
C. have been

An&eu?csmpgwm%gtb “must’ is

followed by have + the past
participle form of the verb. The
past participle is “be” is “been”.




Q25 W|th no rain and any access
to clean water many farmers will
lose their crops.

A. There Is no rain and no
B. No raining and no

C. Without rain and nor
D. Without any rain or

Answer: (d)







